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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
1.
1) 959 2) 908 3) 299 4 586
-44r - 853 - 242 -352 2
3.
4,
5 663 6 430 N 729 8 938 >
- 299 - 226 - 694 =905 6
7.
8.
9 642 100 228 1) 533 12) 489 9.
- 627 - 141 - 236 - 362 o
11.
12.
13) 574 14) 136 15 173 16) 721 13.
- 260 - 105 - 169 - 380
- - 14.
15.
16.
17) 744 18) 316 19 191 20) 275 17,
-621 -192 -161 - 201
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
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3 Digit Minus 3 Digit Name. Answer Key
Use subtraction to solve the following problems. ANnswers
N 512
1) 959 2 908 3 299 4) 586
- 447 - 853 - 242 - 352 ” 55
512 55 57 234
3 57
4 234
4
5 663 6) 430 7 729 8 038 > 36
- 299 - 226 - 694 - 905 . 204
364 204 35 33
7 35
8. 33
9 642 100 228 1) 533 12) 489 J 15
- 627 - 141 - 236 - 362
= 10, 87
15 87 297 127
11 297
1 127
13) 574 14) 136 15 173 16) 721 13 314
- 260 - 105 - 169 - 380 a1
314 31 4 341 14
15. 4
16, 341
17) 744 18) 316 199 191 200 275 17 123
- 621 -192 - 161 - 201
123 124 30 74 . 124
19, 30
20, 74
1-10 195(90(85|80| 7570|6560 |55 |50
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C:h 3 Digit Minus 3 Digit

Name:
Use subtraction to solve the following problems. Answers
57 297 234 15 87
31 204 35 33 4 1.
55 127 364 512 314
2.
1) 959 2) 908 3) 299 3.
- 447 - 853 - 242
- 4,
5.
6.
4 586 5 663 6) 430
- 352 - 299 - 226 &
8.
9.
729 8 938 9 642 10.
- 694 - 905 -627
—_— 11.
12.
13.
100 228 1) 533 12) 489
14.
-141 - 236 - 362
15.
13) 574 14) 136 15 173
- 260 - 105 - 169
[ M ath Modified 5 1111105 ? 2(7) 2(3) 773 %7 6053|4740 33|
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